| Efficiency vs Dxy |

> 0.5
5
00.45
& 0.4
0.35

efficiency

o
w

0.25

r : : : " : : :
111 L1 11 1111 L1 11 L1 11 1111 L1 11 1111
| ERETFPR SPRRRPRN e e

0S5 150 B 15 I8 %0

TP dxy (cm)

Test_10UUevl

—=— D

. - D

| Efficiency vs Dz | |—— 1B
—

—+—— D

M _CKFE-
“mkFitREFit-test 1000evt
mKkFi
“mkFi
“mkFi

0.5

Vs dz
o
© x
N On

0.35

efﬂmency

o
w

I 11 1 1 11 1 1 I 11 11 1 11 1 1 11 1 11 1 1
r L3 ;Hl :

- :D r

r |

C 11

r T

10 20 30
TP dz (cm)

ItREFit-OR-Test_1000evt
itREFit-ORK-test_1000evt
|tREF|t OR4 test 1000evt




	Contents
	Page 1


